



$$\pi \cdot \int (\ln x)^{2} dx = \pi \left[\left| x \right| \left| \left| \frac{e^{2}}{x} \right| \right|_{1}^{2} - \int \frac{e^{2}}{x} \left| \frac{2 \cdot \ln x \cdot \frac{1}{x} dx}{x} \right|_{1}^{2} \right|_{1}^{2} - 2 \cdot \int \ln x dx}{1}$$

$$= \pi \cdot \left(\frac{e^{2} \cdot (\ln(e^{2}))^{2} - 2 \cdot \int \ln x dx}{1} \right)$$

$$\left(\frac{\text{Neste}}{x} \right) \left(\frac{\ln x}{x} = x \ln x - x}{x} \right)$$

$$\left(\frac{\text{Neste}}{x} \right) \left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x - x}{x} \right)$$

$$\left(\frac{\ln x + x \ln x}$$

Friday, May 4, 2018 10:29 AM

$$= \pi \cdot \left(4e^{2} - 2\left[2e^{2} - e^{2} + 1\right] \right)$$

$$= \pi \cdot \left(4e^{2} - 2e^{2} - 2 \right) = \pi \left(2e^{2} - 2 \right) = 2\pi \left(e^{2} - 1 \right)$$

$$R = 6\sqrt{1 + \cos(2\theta)} ; \quad 0 \le \theta \le \frac{\pi}{4}.$$

$$L = \int \sqrt{R^{2} + \left(\frac{dR}{d\theta}\right)^{2}} d\theta$$

$$\frac{dR}{d\theta} = 6 \cdot \frac{(-2\sin(2\theta))}{2\sqrt{1 + \cos(2\theta)}} = \frac{-6\sin(2\theta)}{\sqrt{1 + \cos(2\theta)}}$$

$$\pi h_{4}$$

$$L = \int \sqrt{36(1 + \cos(2\theta)) + \frac{36\sin^{2}(2\theta)}{1 + \cos(2\theta)}} d\theta$$

$$L = \int \sqrt{\frac{14}{1 + \cos(2\theta)}} \frac{1}{1 + \cos(2\theta)} d\theta$$

•

Friday, May 4, 2018 10:35 AM

$$\pi/4$$

 $L = 6 \cdot \int \sqrt{\frac{2 + 2\cos(2\theta)}{1 + \cos(2\theta)}} d\theta = 6 \cdot \sqrt{\sqrt{2}} d\theta$.
 0
 $(13) + \tan^{-1}(u) = \sum_{n=0}^{\infty} (-1)^n \cdot \frac{u^{2n+1}}{2n+1}$
 $S_0, + \tan^{-1}(x^2) = \sum_{n=0}^{\infty} (-1)^n \cdot \frac{(x^2)^{2n+1}}{2n+1}$
 $\frac{+ \tan^{-1}(x^2)}{x^2} = \sum_{n=0}^{\infty} (-1)^n \cdot \frac{x^{2n+1}}{x^2(2n+1)}$
 $= \sum_{n=0}^{\infty} (-1)^n \cdot \frac{x^{2n}}{2n+1}$